Quiz 5, Micr-22, ver 10.15 (1pt each question, unless noted) 
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Name on back →
1. A chemical reaction breaks starch down into glucose subunits. Is this catabolic, or anabolic?
----------------------------------------------------------------------------------------------

Options for # 2 - 3:


A. competitive

B. allosteric


C. feedback

2.  _____  This type of inhibition results from binding of an inhibitor to the active site of an enzyme.
3.  _____  This type of inhibition results from binding of a product of one enzyme to another enzyme earlier in a metabolic 
pathway.

4. What is the name of the major cycle of reactions in cell respiration?
5. What is the name of the phase of cell respiration where carbon dioxide is typically produced?

6. What is the name of the phase of cell respiration where water is typically produced?
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Name on back →
1. A chemical reaction builds starch from glucose subunits. Is this catabolic, or anabolic?

----------------------------------------------------------------------------------------------

Options for # 2 - 3:


A. feedback


B. competitive


C. allosteric 

2.  _____  This type of inhibition results from binding of an inhibitor to an enzyme, but not to the active site.

3.  _____  This type of inhibition results from binding of a product of one enzyme to another enzyme earlier in a metabolic 
pathway.

4. What is the name of the first phase of cell respiration, where glucose is broken into pyruvic acid?

5. What is the name of the phase of cell respiration where carbon dioxide is typically produced?

6. What is the name of the phase of cell respiration where water is typically produced?
